Chapter 12   Money, the Interest Rate, and Output: Analysis and Policy

Principles of Macroeconomics, Case/Fair, 8e

12.1 The Links Between the Goods Market and the Money Market

Multiple Choice
The market in which the equilibrium level of aggregate output is determined is the 

A 


. labor market. 

B 


. bond market. 

C 


. money market. 

D 


. goods market. 

Answer  


: D 

The market in which the equilibrium level of the interest rate is determined is the 

A 


. money market. 

B 


. goods market. 

C 


. labor market. 

D 


. services market. 

Answer  


: A 

A link between the money market and the goods and services market exists through the impact of 

A 


. tax revenue on the government budget. 

B 


. money supply on money demand. 

C 


. income on money demand. 

D 


. income on government spending. 

Answer  


: C 

The two links between the goods market and the money market are 

A 


. income and the inflation rate. 

B 


. the interest rate and the unemployment rate. 

C 


. income and the interest rate. 

D 


. the inflation rate and the unemployment rate. 

Answer  


: C 

Which of the following is determined in the goods market? 

A 


. The equilibrium interest rate 

B 


. Money demand 

C 


. Income 

D 


. The unemployment rate 

Answer  


: C 

Which of the following is determined in the money market? 

A 


. The equilibrium interest rate 

B 


. Income 

C 


. Employment 

D 


. The government budget 

Answer  


: A 

If planned investment is perfectly unresponsive to changes in the interest rate, the planned investment schedule 

A 


. has a negative slope. 

B 


. is horizontal. 

C 


. is vertical. 

D 


. has a positive slope. 

Answer  


: C 

If planned investment is perfectly responsive to changes in the interest rate, the planned investment schedule 

A 

. has a negative slope. 

B 


. is horizontal. 

C 


. is vertical. 

D 


. has a positive slope. 

Answer  


: B 

The money market and the goods market are linked through the impact of the interest rate on 

A 


. government spending. 

B 


. planned investment. 

C 


. money supply. 

D 


. unplanned spending. 

Answer  


: B 

Which of the following equations represents equilibrium in the goods market? 

A 


. Y = Ms. 

B 


. Md = C + I + G. 

C 


. Md = Ms. 

D 


. Y = C + I + G. 

Answer  


: D 

Which of the following equations represents equilibrium in the money market? 

A 


. Y = C + I + G. 

B 


. Md = Ms. 

C 


. Md = C + I + G. 

D 


. None of the above 

Answer  


: B 

Refer to the information provided in Figure 12.1 below to answer the questions that follow.
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Figure 12.1

Refer to Figure 12.1. If the interest rate drops from 7% to 5%, planned investment 

A 


. increases, causing aggregate expenditure and aggregate output to fall. 

B 


. increases, causing aggregate expenditure to fall. 

C 


. decreases, causing both aggregate expenditure and aggregate output to rise. 

D 


. increases, causing both aggregate expenditure and aggregate . output to rise. 

Answer  


: D 

Refer to Figure 12.1. If the interest rate drops from 5% to 7%, planned investment 

A 


. decreases, causing both aggregate expenditure and aggregate output to fall. 

B 


. increases, causing aggregate expenditure to fall. 

C 


. decreases, causing both aggregate expenditure and aggregate output to rise. 

D 


. increases, causing both aggregate expenditure and aggregate . output to rise. 

Answer  


: A 

Refer to Figure 12.1. If the interest rate increases from 5% to 7%, 

A 


. aggregate expenditure increases. 

B 


. equilibrium aggregate output decreases. 

C 


. planned expenditure increases. 

D 


. None of the above 

Answer  


: B 

Refer to Figure 12.1. If the interest rate decreases from 7% to 5%, 

A 


. aggregate expenditure increases. 

B 


. equilibrium aggregate output decreases. 

C 

. planned expenditure decreases. 

D 


. the money supply will increase. 

Answer  


: A 

The interest rate is determined in the 

A 


. money market and has no influence on the goods market. 

B 


. money market and influences the level of planned investment and thus the goods market. 

C 


. goods market and has no influence on the money market. 

D 


. goods market and influences the level of planned investment and thus the money market. 

Answer  


: B 

Output is determined in 

A 


. the goods market and also influence money demand and the interest rate. 

B 


. the money market and also influences money demand and the interest rate. 

C 


. the goods market with no influence from the money market. 

D 


. None of the above 

Answer  


: A 

Refer to the information provided in Table 12.1 below to answer the questions that follow.

Table 12.1

A Hypothetical Investment Schedule
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Refer to Table 12.1. If the interest rate dropped from 14% to 8%, planned investment would ________ by $________ billion. 

A 


. increase; 60 

B 


. increase; 40 

C 


. decrease; 60 

D 


. decrease; 40 

Answer  


: A 

Refer to Table 12.1. Suppose the expenditure multiplier is 2. An increase in the interest rate from 8% to 10%, ceteris paribus, would 

A 


. increase planned expenditure by $40 billion. 

B 


. increase aggregate expenditure by $40 billion. 

C 


. decrease equilibrium output by $40 billion. 

D 


. decrease planned investment by $40 billion. 

Answer  


: C

Refer to Table 12.1. Suppose the expenditure multiplier is 5. A drop in the interest rate from 14% to 10%, ceteris paribus, would increase equilibrium output by $________ billion. 

A 


. 200 

B 


. 40 

C 


. 80 

D 


. 100 

Answer  


: A 

Refer to Table 12.1. Suppose the expenditure multiplier is 5 and the initial interest rate is 12%. What is the interest rate that increases equilibrium output by 300 billion? 

A 


. 6% 

B 


. 8% 

C 


. 10% 

D 


. 16% 

Answer  


: A 

Refer to Table 12.1. Suppose the expenditure multiplier is 5, the initial interest rate is 10%, and the initial equilibrium output is $800 billion. What is the interest rate that increases equilibrium output to $900 billion? 

A 


. 12% 

B 


. 14% 

C 


. 8% 

D 


. 16% 

Answer  


: C 

Refer to Table 12.1. Suppose the expenditure multiplier is 10, and the initial interest rate is 12%. What would be the impact on the equilibrium output if the interest rate fell to 8%? 

A 


. It would increase by $400 billion. 

B 


. It would decrease by $400 billion. 

C 


. It would decrease by $2,000 billion. 

D 


. It would increase by $20 billion. 

Answer  


: A 

Refer to the information provided in Figure 12.2 below to answer the questions that follow.
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Figure 12.2

Refer to Figure 12.2. The equilibrium interest rate is 

A 


. 8%. 

B 


. 7%. 

C 


. 6%. 

D 


. 2%. 

Answer  


: B 

Refer to Figure 12.2. If the interest rate is 8%, there is 

A 


. an excess demand for money. 

B 


. an equilibrium in the money market. 

C 


. equilibrium in the money market, but disequilibrium in the goods market. 

D 


. an excess supply of money. 

Answer  


: D 

Refer to Figure 12.2. If the interest rate is 8%, 

A 


. people will shift their funds into interest-bearing bonds and the interest rate will fall. 

B 

. people want to hold more money than is being supplied, so the money supply will increase and the interest rate will not change. 

C 


. people will shift their assets out of interest-bearing bonds and into money, and the interest rate will fall. 

D 


. people want to hold less money than is being supplied, so the money supply will decrease and the interest rate will not change. 

Answer  


: A 

Refer to the information provided in Figure 12.3 below to answer the questions that follow.
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Figure 12.3

Refer to Figure 12.3. If equilibrium interest rate is 5%, there is 

A

. a $100 billion excess demand for money if money supply is represented by [image: image5.jpg]


. 

B

 . a $100 billion surplus if money supply is represented by [image: image6.jpg]


. 

C 


. a $100 billion excess demand for money if money supply is represented by [image: image7.jpg]



D . a $100 billion surplus if money supply is represented by [image: image8.jpg]


 

Answer  


: B 

Refer to Figure 12.3. Which of the following is TRUE? 

A 


. At a 5% interest rate, a $100 billion increase in money supply lowers the interest rate by 1 percentage point. 

B 


. At 6% interest rate, there is a shortage of money. 

C 


. At 5% interest rate, there is a shortage of money if money supply is [image: image9.jpg]


. 

D 

. At 4%, there is a surplus of money if money supply is  [image: image10.jpg]


. 

Answer  


: A 

Refer to Figure 12.3. Suppose the current equilibrium interest rate is 5%, what could make the equilibrium interest rate rise to 6%? 

A 


. The Fed sells government securities 

B 


. An increase in the GDP 

C 


. An increase in the discount rate 

D 


. All of the above 

Answer  


: D 

If the Fed increases the money supply, there will be 

A 


. a surplus of money and the equilibrium interest rate will rise. 

B 


. a surplus of money and the equilibrium interest rate will fall. 

C 


. a shortage of money and the equilibrium interest rate will rise. 

D 


. a shortage of money and the equilibrium interest rate will fall. 

Answer  


: B 

If the Fed decreases the money supply, there will be 

A 


. a shortage of money and the equilibrium interest rate will rise. 

B 


. a shortage of money and the equilibrium interest rate will fall. 

C 


. a surplus of money and the equilibrium interest rate will rise. 

D 


. a surplus of money and the equilibrium interest rate will fall. 

Answer  


: A 

If GDP increases, there will be 

A 


. a shortage of money and the equilibrium interest rate will rise. 

B 


. a shortage of money and the equilibrium interest rate will fall. 

C 


. a surplus of money and the equilibrium interest rate will rise. 

D 


. a surplus of money and the equilibrium interest rate will fall. 

Answer  


: A 

If GDP decreases, there will be 

A 


. a surplus of money and the equilibrium interest rate will rise. 

B 


. a surplus of money and the equilibrium interest rate will fall. 

C 


. a shortage of money and the equilibrium interest rate will rise. 

D 


. a shortage of money and the equilibrium interest rate will fall. 

Answer  


: B 

Which of the following statements is FALSE? 

A 


. Changes in aggregate output, which take place in the goods market, shift the money-demand curve and cause changes in the interest rate. 

B 


. With a given quantity of money supplied, lower levels of aggregate output will lead to lower equilibrium levels of the interest rate. 

C 


. With a given quantity of money supplied, higher levels of aggregate output will lead to higher equilibrium levels of the interest rate. 

D 


. The equilibrium level of the interest rate is determined exclusively in the money market, and is not affected by changes in the goods market. 

Answer  


: D 

A decrease in aggregate output causes the demand for money to ________ and the interest rate to ________. 

A 


. increase; increase 

B 


. increase; decrease 

C 


. decrease; decrease 

D 


. decrease; increase 

Answer  


: C 

True/False

1) 


The interest rate affects the goods market through its impact on money demand. 

Answer:  


True 
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False 

Diff: 1 

Skill: C 

2) 


When aggregate output rises, money demand and the interest rate rise. 

Answer:  
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True 


False 

Diff: 2 

Skill: C 

3) 


The money market is linked to the goods and services market by the impact of income on the demand for money. 

Answer:  


[image: image13.jpg]


 


True 


False 

Diff: 2 

Skill: C 

4) 


Income is determined in the money market. 

Answer:  


True 


[image: image14.jpg]


 


False 

Diff: 2 

Skill: C 

5) 


The money market is linked to the goods market through the impact of interest rates on planned investment.  

Answer:  
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True 


False 

Diff: 2 

Skill: C 

12.2 Combining the Goods Market and the Money Market

Multiple Choice
Fiscal policy affects the goods market through 

A 


. changes in money supply. 

B 


. changes in taxes and money supply. 

C 


. changes in government spending and money supply. 

D 


. changes in taxes and government spending. 

Answer  


: D 

Fiscal policy affects the money market through its effect on 

A 


. income and money supply. 

B 


. income and money demand. 

C 


. money supply and money demand. 

D 


. money supply and income. 

Answer  


: B 

Monetary policy affects the goods market through its effect on 

A 


. the interest rate and planned investment. 

B 


. the interest rate and money demand. 

C 


. income and planned investment. 

D 


. income and money demand. 

Answer  


: A 

Which of the following is an example of an expansionary fiscal policy? 

A 


. The Fed selling government securities in the open market 

B 


. The federal government increasing the marginal tax rate on incomes above $200,000 

C 


. The federal government increasing the amount of money spent on public health programs 

D 


. The federal government reducing pollution standards to allow . firms to produce more output 

Answer  


: C 

The objective of a contractionary fiscal policy is to 

A 


. reduce unemployment. 

B 


. increase growth in output. 

C 


. reduce inflation. 

D 


. Increase growth in income. 

Answer  


: C 

The objective of an expansionary fiscal policy is to 

A 


. reduce unemployment. 

B 


. reduce inflation. 

C 


. reduce growth in output. 

D 


. reduce growth in international trade. 

Answer  


: A 

A decrease in the money supply aimed at decreasing aggregate output is referred to as 

A 


. contractionary fiscal policy. 

B 


. expansionary fiscal policy. 

C 


. expansionary monetary policy. 

D 


. contractionary monetary policy. 

Answer  


: D 

An example of a contractionary monetary policy is 

A 


. an increase in the required reserve ratio. 

B 


. a decrease in the discount rate. 

C 


. a reduction in the taxes banks pay on their profits. 

D 


. the Fed buying government securities in the open market. 

Answer  


: A 

An example of an expansionary monetary policy is 

A 


. a decrease in the required reserve ratio. 

B 


. the Fed selling bonds in the open market. 

C 


. an increase in the required reserve ratio. 

D 


. a law placing a ceiling on the maximum interest rate that banks can pay to depositors. 

Answer  


: A 

An intended goal of contractionary fiscal and monetary policy is 

A 


. an increase in interest rates. 

B 


. an increase in the price level. 

C 


. the equalization of the distribution of income. 

D 


. a decrease in the level of aggregate output. 

Answer  


: D 

Refer to the information provided in Figure 12.4 below to answer the questions that follow.
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Figure 12.4

Refer to Figure 12.4. Planned investment could decrease from $15 million to $10 million if 

A 


. the government increases government purchases. 

B 


. the Fed increases the money supply. 

C 


. the government reduces government purchases. 

D 


. the government increases net taxes. 

Answer  


: A 

Refer to Figure 12.4. Planned investment could decrease from $18 million to $15 million if 

A 


. the government reduces government purchases. 

B 


. the Fed buys bonds in the open market. 

C 


. the government reduces net taxes. 

D 


. firms expect their sales to decrease in the future. 

Answer  


: C 

Refer to Figure 12.4. Planned investment could increase from $10 million to $15 million if 

A 


. the government increases government purchases. 

B 


. the government decreases net taxes. 

C 


. the Fed sells bonds in the open market. 

D 


. the Fed reduces the required reserve ratio. 

Answer  


: D 

Refer to Figure 12.4. Planned investment could decrease from $15 million to $10 million if 

A 


. the government increases net taxes. 

B 


. the government increases government purchases. 

C 


. the Fed buys bonds in the open market. 

D 


. Both B and C 

Answer  


: B 

Refer to Figure 12.4. Planned investment could decrease from $18 million to $15 million if 

A 


. the government reduces government purchases. 

B 


. the Fed sells bonds in the open market. 

C 


. the Fed lowers the discount rate. 

D 


. B and C 

Answer  


: B 

Refer to Figure 12.4. Planned investment could increase from $10 million to $15 million if 

A 


. the government decreases government purchases. 

B 


. the government decreases net taxes. 

C 


. the Fed buys bonds in the open market. 

D 


. all of the above. 

Answer  


: D 

Which of the following sequence of events follows an expansionary monetary policy? 

A 


. r↑ ⇒ I↓ ⇒ AE↓ ⇒ Y↓. 

B 


. r↑ ⇒ I↑ ⇒ AE↓ ⇒ Y↑. 

C 


. r↓ ⇒ I↑ ⇒ AE↑ ⇒ Y↑. 

D 


. r↓ ⇒ I↓ ⇒ AE↓ ⇒ Y↓. 

Answer  


: C 

Which of the following sequence of events follows a rise in the discount rate? 

A 


. r↓ ⇒ I↓ ⇒ AE↓ ⇒ Y↑. 

B 


. r↑ ⇒ I↓ ⇒ AE↓ ⇒ Y↓. 

C 


. r↓ ⇒ I↑ ⇒ AE↑ ⇒ Y↑. 

D 


. r↑ ⇒ I↑ ⇒ AE↑ ⇒ Y↑. 

Answer  


: B 

Which of the following sequence of events follows an expansionary fiscal policy? 

A 


. AE↑ ⇒ Y↑ ⇒ Md↓ ⇒  r↓ ⇒  I↓ ⇒ AE↓. 

B 


. AE↑ ⇒ Y↑ ⇒ Md↑ ⇒  r↑ ⇒  I↓ ⇒ AE↓. 

C 


. AE↓ ⇒ Y↓ ⇒ Md↓ ⇒  r↓ ⇒  I↑ ⇒ AE↑.                      

D 


. AE↓ ⇒ Y↑ ⇒ Md↓ ⇒  r↓ ⇒  I↓ ⇒ AE↓. 

Answer  


: B 

Which of the following sequence of events follows an increase in net taxes? 

A 


. AE↑ ⇒ Y↑ ⇒ Md↑ ⇒  r↑ ⇒  I↑ ⇒ AE↑. 

B 


. AE↓ ⇒ Y↑ ⇒ Md↓ ⇒  r↑ ⇒  I↓ ⇒ AE↓. 

C 


. AE↑ ⇒ Y↑ ⇒ Md↓ ⇒  r↓ ⇒  I↓ ⇒ AE↓. 

D 


. AE↓ ⇒ Y↓ ⇒ Md↓ ⇒  r↓ ⇒  I↑ ⇒ AE↑. 

Answer  


: D 

If planned investment decreases as the interest rate increases, the size of the government spending multiplier will be 

A 


. zero. 

B 


. larger than the government spending multiplier that would result if planned investment were independent of the interest rate. 

C 


. the same as the government spending multiplier that would result if planned investment were independent of the interest rate. 

D 


. smaller than the government spending multiplier that would result if planned investment were independent of the interest rate. 

Answer  


: D 

If planned investment decreases as the interest rate increases, the absolute value of the tax multiplier will be 

A 


. the same as the absolute value of the tax multiplier that would result if planned investment were independent of the interest rate. 

B 


. larger than the absolute value of the tax multiplier that would result if planned investment were independent of the interest rate. 

C 


. smaller than the absolute value of the tax multiplier that would result if planned investment were independent of the interest rate. 

D 


. zero. 

Answer  


: C 

Refer to the information provided in Table 12.2 below to answer the questions that follow.

Table 12.2
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Assume the following:     


1. For every 1% increase (decrease) in interest rate, planned investment decreases (increases) by $5 billion.     


2. For every $10 billion increase (decrease) in government spending, interest rate increases (decreases) by 1%.     


3. The MPC = 0.8

Refer to Table 12.2. The equilibrium output in this hypothetical economy is $________ billion. 

A 


. 500 

B 


. 600 

C 


. 700 

D 


. 900 

Answer  


: C 

Refer to Table 12.2. When the government increases spending by $20 billion, the crowding-out effect can be represented by a 

A 


. $20 billion decrease in investment. 

B 


. $10 billion decrease in investment. 

C 


. 2% decrease in the interest rate. 

D 


. 1% increase in the interest rate. 

Answer  


: B 

Refer to Table 12.2. Taking the crowding-out effect into consideration, if the government increases spending by $20 billion, equilibrium output 

A 


. increases by $100 billion. 

B 


. increases by $150 billion. 

C 


. decreases by $100 billion. 

D 


. increases by $50 billion. 

Answer  


: D 

Refer to Table 12.2. Taking the crowding-out effect into consideration, if the government increases spending by $30 billion, the new equilibrium output is 

A 


. $575 billion. 

B 


. $775 billion. 

C 


. $850 billion. 

D 


. $626 billion. 

Answer  


: B 

The severity of the crowding-out effect will be reduced if 

A 


. the Fed increases the money supply at the same time the federal government increases government spending. 

B 


. the Fed decreases the money supply at the same time the federal government increases government spending. 

C 


. the Fed does not change the money supply when the government increases government spending. 

D 


. business firms become pessimistic about the future. 

Answer  


: A 

If the Fed increases the money supply at the same time the federal government increases government spending, the crowding-out effect 

A 


. will not be affected. 

B 


. will be increased. 

C 


. will be reduced. 

D 


. could either increase or decrease depending on the sensitivity of planned investment to the interest rate. 

Answer  


: C 

The steeper the planned investment schedule (curve) 

A 


. the larger is the crowding-out effect. 

B 


. the smaller is the crowding-out effect. 

C 


. the larger is the change in planned investment as a result of changes in the interest rate. 

D 


. the smaller is the change in money demand as a result of changes in the interest rate. 

Answer  


: B 

The flatter the planned investment schedule (curve) 

A 


. the smaller is the change in planned investment as a result of changes in the interest rate. 

B 


. the smaller is the crowding-out effect. 

C 


. the larger is the crowding-out effect. 

D 


. the larger is the change in money demand as a result of changes in the interest rate. 

Answer  


: C 

If planned investment does not fall when the interest rate rises, there will be 

A 


. a slight crowding-out effect. 

B 


. a substantial crowding-out effect. 

C 


. no crowding-out effect. 

D 


. a complete crowding-out effect. 

Answer  


: C 

Which of the following reduces the severity of the crowding-out effect whenever the government increases spending? 

A 


. An expansionary monetary policy 

B 


. An expansionary fiscal policy 

C 


. A contractionary monetary policy 

D 


. A contractionary fiscal policy 

Answer  


: A 

A complete crowding-out effect occurs when the government increases spending and the planned investment schedule (curve) is 

A 


. upward sloping. 

B 


. downward sloping. 

C 


. vertical. 

D 


. horizontal. 

Answer  


: D 

There will be no crowding-out effect when the government increases spending and the planned investment schedule (curve) is 

A 


. vertical. 

B 


. downward sloping. 

C 


. upward sloping. 

D 


. horizontal. 

Answer  


: A 

If firms sharply increase the number of investment projects undertaken when interest rates fall and sharply reduce the number of investment projects undertaken when interest rates increase, then 

A 


. expansionary fiscal policy will be very effective. 

B 


. expansionary monetary policy will be very effective. 

C 


. contractionary fiscal policy will be very effective. 

D 


. contractionary monetary policy will not be very effective. 

Answer  


: B 

If planned investment is sensitive to the interest rate, an increase in the interest rate causes the 

A 


. aggregate expenditure curve to shift down. 

B 


. aggregate expenditure curve to shift up. 

C 


. long-run aggregate supply curve to shift out. 

D 


. investment demand schedule to shift to the right. 

Answer  


: A 

Monetary policy can be effective only if 

A 


. the money supply reacts to changes in the interest rate. 

B 


. planned investment reacts to changes in the interest rate. 

C 


. money demand reacts to changes in the interest rate. 

D 


. government spending reacts to changes in the interest rate. 

Answer  


: B 

Dan, a writer for a business magazine, interviewed managers at 100 large corporations. All of the managers indicated that the primary determinant of planned investment is expected sales and not the interest rate. From this information, Dan concluded that 

A 


. fiscal policy would be very effective, but monetary policy would not be very effective. 

B 


. neither expansionary nor contractionary monetary policy would be very effective. 

C 


. both expansionary and contractionary monetary policy would be very effective. 

D 


. fiscal policy would not be very effective, but monetary policy would be very effective. 

Answer  


: A 

Assuming that investment spending depends on the interest rate, as the supply of money is increased, the interest rate ________ and planned investment spending ________. 

A 


. falls; increases 

B 


. falls; decreases 

C 


. rises; decreases 

D 


. rises; increases 

Answer  


: A 

If the interest rate is so high that it is affecting economic growth, the recommended policy action should be 

A 


. an expansionary fiscal policy. 

B 


. an expansionary monetary policy. 

C 


. a contractionary monetary policy. 

D 


. the demand for money should be increased. 

Answer  


: B 

Monetary policy affects the money market by 

A 


. changing the interest rate, which changes planned investment. 

B 


. directly increasing consumption, which increases aggregate output. 

C 


. changing the money supply, which changes the interest rate. 

D 


. changing the level of aggregate output, which changes the level of planned expenditure. 

Answer  


: C 

The primary policy response of the Congress to the recessions of 19741975 and 19801982 was 

A 


. a tax cut. 

B 


. an increase in government spending. 

C 


. an increase in the rate of growth in the money supply. 

D 


. a reduction in interest rates. 

Answer  


: A 

If the investment demand curve is vertical, 

A 


. both monetary and fiscal policy are ineffective. 

B 


. both monetary and fiscal policy are effective. 

C 


. monetary policy is effective, but fiscal policy is ineffective. 

D 


. monetary policy is ineffective, but fiscal policy is effective. 

Answer  


: D 

If the federal government is reducing net taxes to stimulate the economy at the same time the Fed is selling bonds in the open market, the effectiveness of the expansionary fiscal policy will be 

A 


. increased, because the Fed's actions will result in lower interest rates and a reduction in the crowding-out effect. 

B 


. reduced, because the Fed's actions will result in higher interest rates and an increase in the crowding-out effect. 

C 


. increased, because the Fed's actions will result in lower interest rates and an increase in the crowding-out effect. 

D 


. reduced, because the Fed's actions will result in lower interest rates and an increase in the crowding-out effect. 

Answer  


: B 

If the Fed accommodates a fiscal expansion by increasing the money supply so that the interest rate increases only a little, the crowding-out effect will 

A 


. be zero. 

B 


. increase. 

C 


. decrease, but still be positive. 

D 


. become infinitely large. 

Answer  


: C 

Refer to the information provided in Figure 12.5 below to answer the questions that follow.
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Figure 12.5

Refer to Figure 12.5. As a result of an expansionary fiscal policy, the largest crowding-out effect occurs if the planned investment schedule (curve) is similar to the one in Panel ________. 

A 


. A 

B 


. B 

C 


. C 

D 


. D 

Answer  


: C 

Refer to Figure 12.5. The largest impact on output as a result of an expansionary fiscal policy would occur if the planned investment schedule (curve) is similar to the one in Panel ________. 

A 


. A 

B 


. B 

C 


. C 

D 


. D 

Answer  


: B 

Refer to Figure 12.5. Assume the current equilibrium output is $500 billion, the spending multiplier is 5, and the government increases purchases by $10 billion. If the new equilibrium output increases to $530 billion, most likely the planned investment schedule (curve) is similar to the one in Panel ________. 

A 


. A 

B 


. B 

C 


. C 

D 


. D 

Answer  


: A 

Refer to Figure 12.5. Assume the current equilibrium output is $500 billion, the spending multiplier is 5, and the government increased spending by $10 billion. If the new equilibrium output increased to $550 billion, most likely the planned investment schedule (curve) is similar to the one in Panel ________. 

A 


. A 

B 


. B 

C 


. C 

D 


. D 

Answer  


: B 

Refer to Figure 12.5. Assume the current equilibrium output is $500 billion, the spending multiplier is 5, and the government increased spending by $10 billion. If the new equilibrium output did not change, most likely the planned investment schedule (curve) is similar to the one in Panel ________. 

A 


. A 

B 


. B 

C 


. C 

D 


. D 

Answer  


: C 

Which of the following actions is an example of an expansionary fiscal policy? 

A 


. An increase in the discount rate 

B 


. A decrease in defense spending 

C 


. A sale of government securities in the open market 

D


. A decrease in net taxes. 

Answer  


: D 

Which of the following sequence of events occurs in response to an expansionary fiscal policy? 

A 


. Aggregate output decreases, causing money demand to decrease, causing the interest rate to decrease and planned investment to increase. 

B 


. Aggregate output decreases, causing money demand to increase, causing interest rates to increase and planned investment to decrease. 

C 


. Aggregate output increases, causing money demand to increase, causing interest rates to increase and planned investment to decrease. 

D 


. Aggregate output decreases, causing the demand for money to increase, causing interest rates to increase and planned investment to increase. 

Answer  


: C 

Refer to the information provided in Figure 12.6 below to answer the questions that follow.
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Figure 12.6

Refer to Figure 12.6. After government purchases are reduced, the planned aggregate expenditure function may shift from C + I + G'  to C + I' + G' because the reduction in output will cause 

A 


. money supply to increase, the interest rate to decrease, and planned investment to increase. 

B 


. money supply to decrease, the interest rate to decrease, and planned investment to increase. 

C 


. money demand to decrease, the interest rate to decrease, and planned investment to increase. 

D 


. money demand to increase, the interest rate to decrease, and planned investment to increase. 

Answer  


: C 

Refer to Figure 12.6. The initial aggregate expenditure function is given by C + I + G. A decrease in government spending shifts the aggregate expenditure function to C + I + G'. If investment does NOT depend on the interest rate, the multiplier 

A 


. is .5. 

B 


. is 1.33. 

C 


. is 2. 

D 


. cannot be determined from the information available. 

Answer  


: C 

Refer to Figure 12.6.  If investment does NOT depend on the interest rate, the change in government purchases that decreases income from 800 to 200 is 

A 


. an increase of 300. 

B 


. a decrease of 300. 

C 


. a decrease of 600. 

D 


. cannot be determined from the information available. 

Answer  


: B 

Refer to Figure 12.6.   If investment DOES depend on the interest rate, the change in planned investment that the decrease in government spending brought about so that income fell from 800 to 400 rather than 200 would have been  

A 


. an increase of 100. 

B 


. a decrease of 200. 

C 


. a decrease of 400. 

D 


. cannot be determined from the information available. 

Answer  


: A 

Refer to the information provided in Figure 12.7 below to answer the questions that follow.
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Figure 12.7

Refer to Figure 12.7. What is the multiplier in this economy? 

A 


. 2 

B 


. 4 

C 


. 5 

D 


. 10 

Answer  


: A 

Refer to Figure 12.7. The initial aggregate expenditures are represented by the line AE0. If the government increases spending by $50 billion and the aggregate expenditures curve shifts to AE1, we know for sure that 

A 


. there is $25 billion decline in planned investment. 

B 


. there is some crowding-out effect. 

C 


. the planned investment schedule is downward sloping. 

D 


. All of the above 

Answer  


: D 

Refer to Figure 12.7. The initial aggregate expenditures are represented by the line AE0. If the government increases spending by $50 billion and the aggregate expenditures curve shifts to AE2, we know for sure that 

A 


. the interest rate does not change as a result of fiscal policy. 

B 


. planned investment is perfectly insensitive to changes in the interest rate. 

C 


. there is total crowding-out effect. 

D 


. All of the above 

Answer  


: B 

Refer to Figure 12.7. The initial aggregate expenditures are represented by the line AE0. If the government increases spending by $50 billion and the aggregate expenditures curve remains  AE0, we know for sure that 

A 


. the interest rate does not change as a result of fiscal policy. 

B 


. planned investment is perfectly insensitive to changes in the interest rate. 

C 


. there is total crowding-out effect. 

D 


. All of the above 

Answer  


: C 

If investment depends on the interest rate, a decrease in net taxes will cause aggregate output to ________ than if investment doesn't depend on the interest rate. 

A 


. increase by more 

B 


. increase by less 

C 


. decrease by more 

D 


. decrease by less 

Answer  


: B 

A decrease in the money supply aimed at decreasing aggregate output is 

A 


. an expansionary fiscal policy. 

B 


. a contractionary monetary policy. 

C 


. a contractionary fiscal policy. 

D 


. an expansionary monetary policy. 

Answer  


: B 

Which of the following is the sequence of events following a contractionary monetary policy? 

A 


. Money demand increases ⇒ interest rates increase ⇒ planned investment  falls and aggregate output falls. 

B 


. Interest rates increase ⇒ planned investment decreases ⇒ aggregate output decreases ⇒ money demand decreases. 

C 


. Interest rates decrease ⇒ planned investment decreases ⇒ aggregate output decreases ⇒ money demand decreases. 

D 


. Aggregate output falls ⇒ the demand for money falls ⇒ interest rates rises ⇒ planned investment  decreases. 

Answer  


: B 

Refer to the information provided in Figure 12.8 below to answer the questions that follow.
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Figure 12.8

Refer to Figure 12.8. Interest rate [image: image22.jpg]


 is greater than interest rate [image: image23.jpg]


.  Which of the following would have caused the planned aggregate expenditure function to shift from C + I + G to C + I' + G? 

A 


. A contractionary monetary policy 

B 


. A contractionary fiscal policy 

C 


. A decrease in the cost of capital relative to labor 

D 


. All of the above 

Answer  


: A 

Which of the following actions is an example of an expansionary monetary policy? 

A 


. A reduction in federal spending on education 

B 


. A purchase of government securities in the open market 

C 


. An increase in the discount rate 

D 


. An increase in income tax rates 

Answer  


: B 

You are a member of the Council of Economic Advisors, and you are concerned that the inflation rate is too high. Which of the following policies should you recommend? 

A 


. A decrease in the money supply 

B 


. An increase in the money supply 

C 


. A decrease in income tax rates 

D 


. An increase in government spending 

Answer  


: A 

The Federal Reserve has pursued strong contractionary policies twice in recent years: first in 1973-74, and again in 1979-80. The Fed's purpose in following a tight monetary policy was to 

A 


. reduce the interest rate. 

B 


. slow the inflation rate. 

C 


. reduce the government deficit. 

D 


. reduce the level of planned investment. 

Answer  


: B 

The combination of monetary and fiscal policies in use at a given time is referred to as the 

A 


. crowding-out mix. 

B 


. policy mix. 

C 


. discretionary mix. 

D 


. package mix. 

Answer  


: B 

A policy mix that consists of a contractionary fiscal policy and an expansionary monetary policy would 

A 


. be neutral with respect to the composition of aggregate spending in the economy. 

B 


. lead to higher interest rates. 

C 


. favor government spending over investment spending. 

D 


. favor investment spending over government spending. 

Answer  


: D 

A policy mix that consists of an expansionary fiscal policy and a contractionary monetary policy would 

A 


. be neutral with respect to the composition of aggregate spending in the economy. 

B 


. favor investment spending over government purchases. 

C 


. lead to lower interest rates. 

D 


. favor government purchases over investment spending. 

Answer  


: D 

A policy mix of an expansionary fiscal policy and a contractionary monetary policy would cause output to ________ and interest rates to ________. 

A 


. decrease; decrease 

B 


. decrease; increase 

C 


. decrease; increase, decrease, or remain unchanged 

D 


. increase, decrease, or remain unchanged; increase 

Answer  


: D 

A policy mix of an expansionary fiscal policy and an expansionary monetary policy would cause output to ________ and interest rates to ________. 

A 


. increase; increase 

B 


. increase; increase, decrease, or remain unchanged 

C 


. increase, decrease, or remain unchanged; increase 

D 


. decrease; increase 

Answer  


: B 

The policy mix of a contractionary fiscal policy and a contractionary monetary policy would cause output to ________, and interest rates to ________. 

A 


. decrease; increase, decrease, or remain unchanged 

B 


. decrease; decrease 

C 


. decrease; increase 

D 


. increase, decrease, or remain unchanged; decrease 

Answer  


: A 

The policy mix that would cause the interest rate to increase and investment to decrease, but have an indeterminate effect on aggregate output, is a mix of 

A 


. expansionary fiscal policy and expansionary monetary policy. 

B 


. contractionary fiscal policy and expansionary monetary policy. 

C 


. expansionary fiscal policy and contractionary monetary policy. 

D 


. contractionary fiscal policy and contractionary monetary policy. 

Answer  


: C 

The policy mix that would cause the interest rate to decrease and investment to increase, but have an indeterminate effect on aggregate output, is a mix of 

A 


. contractionary fiscal policy and expansionary monetary policy. 

B 


. expansionary fiscal policy and contractionary monetary policy. 

C 


. expansionary fiscal policy and expansionary monetary policy. 

D 


. contractionary fiscal policy and contractionary monetary policy. 

Answer  


: A 

Between the spring of 1990 and the spring of 1991, interest rates in the United States dropped by nearly two full percentage points. A possible explanation for this decrease in interest rates is 

A 


. the demand for money increased as the economy sank into recession during the fall of 1990. 

B 


. the implementation of an expansionary fiscal policy. 

C 


. a major increase in the size of the federal budget deficit. 

D 


. the implementation of an expansionary monetary policy by the Federal Reserve. 

Answer  


: D 

During the spring of 1991, economists began to observe that lower interest rates were not having much of an effect on investment spending plans. A possible explanation for this is that 

A 


. firms were expecting their sales to increase in the near future. 

B 


. the cost of capital was falling relative to the cost of labor. 

C 


. investment demand is very sensitive to changes in the interest rate. 

D 


. capital utilization rates were very low. 

Answer  


: D 

True/False 

1) 


Fiscal policy affects the money market through its impact on income and money demand. 

Answer:  
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True 


False 

Diff: 1 

Skill: C 

2) 


Monetary policy affects the goods market through its impact on the interest rate and planned investment. 

Answer:  
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True 


False 

Diff: 1 

Skill: C 

3) 


The tendency for increases in government purchases to cause reductions in private saving is known as the crowding-out effect. 

Answer:  


True 
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False 

Diff: 1 

Skill: D 

4) 


As the interest sensitivity of investment demand decreases, the size of the crowding-out effect decreases. 

Answer:  
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Skill: F 

5) 


If planned investment does not fall as the interest rate rises, there is no crowding-out effect. 

Answer:  
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False 
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Skill: F 

6) 


The more sensitive planned investment is to the interest rate, the less effective fiscal policy. 

Answer:  
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Skill: F 

7) 


The more sensitive planned investment is to the interest rate, the less the effectiveness of monetary policy. 

Answer:  


True 
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Skill: F 

8) 


If the Fed wants to reduce the inflation rate, it should lower the discount rate. 

Answer:  


True 
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9) 


If the Fed wants to reduce the inflation rate, it should sell bonds in the open market. 

Answer:  
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10) 


The policy mix of an expansionary monetary policy and an expansionary fiscal policy will, unambiguously, lead to a decrease in the interest rate. 

Answer:  


True 
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12.3 Other Determinates of Planned Investment
Multiple Choice
Which of the following events will lead to a decrease in the level of planned investment? 

A 


. A decrease in the interest rate. 

B 


. Businesses expect their sales to decline in the future. 

C 


. Capital utilization rates increase. 

D 


. Relative to labor, capital becomes less expensive. 

Answer  


: B 

Which of the following events will lead to an increase in the level of planned investment? 

A 


. An increase in the interest rate. 

B 


. Businesses expect their sales to decrease in the future. 

C 


. Capital utilization rates increase. 

D 


. Relative to labor, capital becomes more expensive. 

Answer  


: C 

Which of the following events will lead to an increase in the level of planned investment? 

A 


. An decrease in the interest rate. 

B 


. Businesses expect their sales to increase in the future. 

C 


. Capital utilization rates increase. 

D 


. All of the above 

Answer  


: D 

If capital utilization rates increase, then  

A 


. investment will increase. 

B 


. investment will decrease. 

C 


. the cost of capital relative to labor will fall.  

D 


. expectations of future sales will fall. 

Answer  


: A 

Which of the following events will lead to a decrease in the level of planned investment? 

A 


. The cost of capital rises relative to the cost of labor. 

B 


. Businesses expect their sales to increase in the future. 

C 


. Capital utilization rates increase. 

D 


. All of the above 

Answer  


: A 

True/False

1) 


If the capital utilization rates fall, planned investment will rise.  

Answer:  


True 


[image: image34.jpg]


 


False 

Diff: 1 

Skill: C 

2) 


If the cost of capital decreases relative to the cost of labor, planned investment will tend to decrease. 

Answer:  


True 
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Skill: C 

3) 


When expectations of future sales grow, planned investment increases.  

Answer:  
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Skill: C 

4) 


The higher the capital utilization rate, the higher planned investment.  

Answer:  
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Skill: C 

5) 


If labor is expensive relative to capital, firms will tend to substitute away from labor toward capital. 

Answer:  
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12.4 Appendix

Multiple Choice
Each point on the LM curve represents the equilibrium point in the 

A 


. goods market for the given interest rate. 

B 


. money market for the given value of aggregate output. 

C 


. goods market for the given level of government spending. 

D 


. money market for the given level of the money supply. 

Answer  


: B 

Refer to the information provided in Figure 12.9 below to answer the questions that follow.
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Figure 12.9

Refer to Figure 12.9. An expansionary fiscal policy shifts the ________ curve to the ________. 

A 


. IS; left 

B 


. LM; right 

C 


. IS; right 

D 


. LM; left 

Answer  


: C 

Refer to Figure 12.9. A contractionary monetary policy shifts the ________ curve to the ________. 

A 


. LM; right 

B 


. IS; right 

C 


. IS; left 

D 


. LM; left 

Answer  


: D 

Refer to Figure 12.9. As a result of ________, the equilibrium interest rate increases and the equilibrium output level increases. 

A 


. an expansionary monetary policy 

B 


. a contractionary monetary policy 

C 


. an expansionary fiscal policy 

D 


. a contractionary fiscal policy 

Answer  


: C 

Refer to Figure 12.9. As a result of ________, the equilibrium interest rate increases and the equilibrium output level decreases. 

A 


. an expansionary monetary policy 

B 


. a contractionary monetary policy 

C 


. an expansionary fiscal policy 

D 


. a contractionary fiscal policy 

Answer  


: B 

Refer to Figure 12.9. Which policy mix would definitely increase the equilibrium interest rate? 

A 


. An expansionary monetary policy and an expansionary fiscal policy 

B 


. A contractionary monetary policy and a contractionary fiscal policy 

C 


. An expansionary fiscal policy and a contractionary monetary policy 

D 


. None of the above 

Answer  


: C 

Each point on the IS curve represents the equilibrium point in the 

A 


. goods market for the given level of government spending. 

B 


. money market for the given value of aggregate output. 

C 


. goods market for the given interest rate. 

D 


. money market for the given level of the money supply. 

Answer  


: C 

If the combination r = 10% and Y = $200 billion is on the IS curve, we know that the combination r = 10% and Y = $300 billion consists of an 

A 


. output level that is too high to maintain equilibrium in the goods market with an interest rate of 10%. 

B 


. interest rate that is too high to maintain equilibrium in the money market with an output of $300 billion. 

C 


. interest rate that is too low to maintain equilibrium in the goods market with an output of $300 billion. 

D 


. output level that is too low to maintain equilibrium in the goods market with an interest rate of 10%. 

Answer  


: A 

The curve that illustrates the positive relationship between the equilibrium values of aggregate output and the interest rate in the money market is the 

A 


. money demand curve. 

B 


. money supply curve. 

C 


. LM curve. 

D 


. IS curve. 

Answer 


: C 

If the combination r = 5% and Y = $100 billion is on the LM curve, we know that the combination r = 7% and Y = $100 billion consists of an 

A 


. output level that is too high to maintain equilibrium in the money market with an interest rate of 7%. 

B 


. interest rate that is too high to maintain equilibrium in the money market with an output of $100 billion. 

C 


. interest rate that is too low to maintain equilibrium in the goods market with an output of $100 billion. 

D 


. output level that is too low to maintain equilibrium in the goods market with an interest rate of 7%. 

Answer 


: B 

True/False

1) 


The IS curve shows combinations of income and interest rates consistent with equilibrium in the goods market. 

Answer:  
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2) 


If the money supply increases, then the LM curve increases. 

Answer:  
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3) 


If government spending increases, then the LM curve increases.  

Answer:  


True 
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4) 


If net taxes decrease, then the IS curve falls.  

Answer:  


True 
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5) 


Expansionary fiscal policy increases the IS curve. 

Answer:  
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